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* ABIDSKEDLINT

3 HALRX Efh [ B AR RIEM W EE
BHYN 1E BF 5kg & kg 800 EE
BHEHN 8 Fh 5kg 78 ke 700 N
il AN 6 =i 5kg i kg 800 EiE
I H N 1B = 5k 5kg 5= kg 750 B
YN 8E =k 5kg & kg 700 EiE
= TA 102 aF 5kg i kg 650 EiE
7o 20/22FE =l 5kg & kg | 2,150 EE
JY 9/10kg tiEE 1A i kg | 1,100 FME TE
7Y 7/8kg tiEE 1A 7 kg | 1,050 MNE FE
Jy 4/5kg ES 1A i kg 950 EE FEX
75 2 b | 10/13kg e kg 850 FiE
g7 #J15g iR 2kg 7 kg 900
hyA 4kg = 1A 8 kg | 1,800 B BR
hvx 3kg ALE 1A 7 kg | 1,800 ]
r54 5 FE 6/7kg 5= kg | 1,700 EE
B 4/5E 2 8kghH & kg | 1,600 &4
H5 3kgH FE 1A 5= kg | 2,900 FBE FxX I
H3F 5 =W SkgH& A kg | 1,400 EiE
£ B 4 Edon] 5/5.5kg i kg | 3,200 8 HEE AfT10%8
A= 1/2kg R 1A 55 kg | 2,600 EE &
=] 2kg& &5 1A & kg | 2,200 ETE &K
TAT A+ 3/58 k. 3kg & kg | 2,600 FiE
S EBYINE B 500g 5 P | 25300
M7 102 FEE P P | 1,200
EBEE7 102 THFE 1kg P P | 3500
£I5R 100g KBR P P 500
ry+H #9300g tiEE & kg | 1,600
T 100/130g & & kg | 3,200
HHT 150/180g KI5 & kg | 3,200
HHT 200/250g K& & kg | 3,200
BT 30/40g o & kg | 3,200
BEYYT 40/50g o & kg | 2,800
EYHT 50/60g I]s| & kg | 2,700




